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GERAN Evolution – Updates to Section 10 of the Feasibility Report
1 Introduction

This contribution provides a few updates to section 10 of the GERAN evolution feasibility report in order to clarify some of the editor’s notes.
USF scheduling of shorter TTI and legacy mobile stations: Clarify CS-1 encoding/decoding in 10 ms TTI case
Proposed text:
In the GMSK case, the legacy stealing flags are needed to allow the legacy (and new) terminals to decode the USF. Therefore, they cannot be used to differentiate between CS-1 on one hand and MCS-1 to 4 on the other hand, in case 10 ms TTI blocks are transmitted. Nevertheless, it must be possible to send CS-1-encoded blocks also with 10 ms TTI, since RLC/MAC control blocks are always sent with CS-1. In order to make the differentiation between CS-1 and MCS-1 to 4, other means are needed. A feasible solution to this problem is to blindly detect the coding scheme as follows: The receiver first tries to decode the RLC/MAC header, assuming the block is encoded with MCS-1 to 4 (note that these coding schemes all have the same header encoding). If this succeeds (as indicated by the CRC check), the receiver continues to decode the data part according to the MCS indicated in the RLC/MAC header. Otherwise, the receiver decodes the block assuming CS-1 was used. Since the channel decoding of a CS-1 block is less complex than the decoding of the data part of a MCS-1 to 4 block, the overall complexity of this solution will be equal to or less than regular decoding of MCS-1 to 4.
On Performance gains and delay estimation chapter (Section 10.1.1?): Intermediary steps (keeping Abis delay and/or MS reaction time) should be shown as well.
Proposed text:
Table X determines the delay for the same scenario as in Table 2 but using the latency enhancements in [1], i.e. a reduced TTI of 10 ms and keeping the Abis delay to 20 ms. The reaction time of MS is one TTI period (similar to RRBP=8/9).  

Table X. Latency enhancements of 10 ms TTI, 20 ms Abis, including with one retransmission and event-based Ack/Nack (all values in [ms])

	Direction
	BSC/PCU
	Abis
	BTS 
	Um
	MS
	SUM [ms]

	BSC(
	
	20
	<5
	10
	
	30-35

	(MS
	
	20
	<5
	10
	10
	40-45

	BSC/PCU(
	<10
	20
	<5
	10
	
	30-45

	SUM
	<10
	60
	<15
	30
	20
	100-125

























































































